T o e

36=9x
What is CLXI?

Round 1.7 to the nearest
whole humber =

33=
3672 + 27 =

. .c 3
Slmpllfyg =
3753 x9 =
___=1265-753
450 + 10 =
27 -149 =

48=8x
What is CCXLVI?

Round 17.9 to the nearest
whole number =

8 =

4293 + 27 =
. o 4

Slmpllny—

8735 x9 =

_ =2541-1243

450 + 1000 =
47 —34.08 =

56=7x_
What is CMLXXVI?

Round 27.08 to the nearest
whole number =

93 =

5049 + 27 =
... 8

Slmpllfy3—2-

12864 x 9 =

_ =8634-3742

45 + 1000 =
86—27.904 =



T o e

36=9x4
What is CLXI? 161

Round 1.7 to the nearest
whole number = 2

33 =27

3672 +27 =136
. e 3 1
Simplify 5°3
3753 x9=33777
512 =1265-753
450 + 10 =45

27-149=12.1

418 =8x6

What is CCXLVI? 246
Round 17.9 to the nearest

whole number =18
83=512

4293 + 27 =159
e 41

Simplify 53

8735 x9 =78615

1298 = 2541 — 1243

450 + 1000 = 0.45

47 —-34.08=12.92

56=7x8
What is CMLXXVI? 976

Round 27.08 to the nearest
whole number = 27

93 =729

5049 + 27 =187
. .. 8 1
Simplify 22 -2
12864 x 9 = 115776
4892 = 8634 — 3742
45 + 1000 = 0.045

86 —27.904 = 58.096



